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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. Tt 9eudd {99 999 09 ) qHieh 3 qaEd: ofd |

Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. |H U HEAT AT ¢

All the questions are compulsory.

3. T YT I IR & T8 SW-GRTH 8 G |

Write the answer to each question in the given answer-book only.
4. SH U H 3T 6 @US §, 39 9 F IW TH 1T & o |

For questions having more than one part, the answers to those

parts are to be written together in continuity.

5. W U % BRI o ST TURR W R THR B JT / IR/ SRIE
BH W BRI W7 3 WY R el W |
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If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi

version should be treated valid.

6. @UE U HEAT % UG UIH SO it I W
A 1-13 1 20 K
q 14-22 2 60 VK
q 25-27 3 100 I
9 28-30 4 250 ¥
Section Q. Nos. Marks per Word limit
question of answer
A 1-13 1 20 words
B 14-22 2 60 words
C 25-27 3 100 words
D 28-30 4 250 words

7. U9 G 23 3N 24 HH T HE G G6 4d © AN TS 2 3k H 2

Question Nos. 23 and 24 are related to map-work carrying

2 marks each.

8. AYH F YRA % IUCT MW 7T J&T T TAT bl IR YTl o T el
F
Attach outline maps of World and India with the answer-book.

9. YT HHih 29 3R 30 H i {h hod & |

There are internal choices in Question Nos. 29 and 30.

Tque - A
Section - A
1. “UYETH 9gd 37 ¥ WM W HH AN R HH WMl W T8 37 & AT d &1
g HIT FHH Yicra H & ?

Which geographer said, “Asia has many places where people are few

and few places where people are too many” ? 1
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2.  aT g TONTUTT aTel S91 SH-91 § o ST [ -ard - & 2

Which country has the highest sex ratio and how much is its sex

ratio ? E+£=1
2 2

3. TEM 3T SR e WeW oy I9 W R € 2

In which country is the Great Lake industrial region located ? 1
4.  TUTSSISA &1 H UIAE & e UL I AN AT ST § 2

Which animals are used for transportation in the glaciated regions ?

1,1
2 2
5. e @ A § 2
What is meant by internet ? 1
6. HMT dfEqdr w9 Fed § 2
What are human settlements ? 1
7. WTEE EH I TRe S99 HF TR HE ?
Which city is credited with being the first megacity ? 1

8. URd U &l § 94l g Yo 9 HROT 9 Bl & ?

Which factor causes maximum migration among women in India ? 1

9. A I AHT I Guehih Tl &F & I FIT HROT § ?

Which factor is responsible for the highest human development index

of Kerala ? 1

10. TRIGT TR R &I € 2

What is a Garrison city ? 1
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11. ‘SO0 HH YHR i SRl & 2

What kind of settlement is a ‘dhani’ ? 1
12. & LI AEA! ST D91 F 2
Which is a seasonal agro-based industry ? 1

13. €9 UGV T Y THE H AN AT € 2
In which unit is noise pollution measured ? 1
g -
Section - B

14. 3T STeT & =R Y& & 91 A Q|

Name four sub-fields of Economic Geography.

N |~
+
N~
+
N |~
+
N |~
Il
N

15. 5 3R THT H FT 3R ¢ ?

Differentiate between growth and development. 1+1=2
16. =l AR TS I AR THE & A o @ |

1 1 1 1
Name any four regional trade blocs. — + =+ =+ > =2

2 2 2
17. IS TR Soofl H M HET UL o 370k A H oell el "R GHensi
T Joolg I ST |

If you have to reside in Delhi, name any four problems which you are

going to face. E + 1 + i + i =
2 2 2 2
18. HRGT 9NI3T & YYERI o A & QU |
Name the families of Indian languages. % + % + % + % =2

19. 3SREC &F & THT T HIg TR TT 5 94 |

Suggest any four measures for the development of Aravali region.
E + 1 + E + E =92
2 2 2 2
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20.

21.

22.

23.

5
TA A TT e ST AT hesl T GH oI I ST
() IrSHEN (a) FREUE
(i) weTE (b) ufv=m ST
(iii) IR (c) BUTE
(iv) SRR (@) SR (3TrEEm |

Match the following iron and steel industrial centres : 4 x % =2

(i) Rourkela (a) Jharkhand

(i) Bhilai (b) West Bengal

(iii) Durgapur () Chhattisgarh

(iv) Bokaro (d) Orissa (Odisha).

IR | THT ST i e YHRI T alihd AT T E ?

In how many types are the Indian rural settlements classified ?
o,
2 2 2 2

TR o 37T G | 3™ G TEdT &1 Sooid hi S0 |

Mention the changes which occurred in the import composition of
India. 2

T T G BT 3@ GG H AT Bl il G -
(@) ST (i) TIUE

(iii) I AR (iv) dfeT =Y
Show the following in the outline map of the world provided to you :
4 x % =2
(i) Japan (i) England
(iii) Mediterranean Sea (iv) River Volga.
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24.

25.

26.

27.

28.

6

TU MU YRA & &Y W& G 9 H =1 hd dol Scd1eeh &1501 i 31 el i =TT :
() SR (ii) SfRoIgeR

(i) =TS 8T8 (iv) TSI

Locate the following oil producing areas in the outline map of India

1
provided to you : 4 x 2 =2
(i) Barmer (i) Ankleshwar
(iii) Mumbai High (iv) Digboi.

g - q

Section - C

T RN o heel Al HIehl hl TU &l 54 |

Describe any three factors of tourist attraction. 1+1+1=3

IRT H TSH! HI IaRIT ST €, THRUT T i ST |
Give a reasoned account of the unequal distribution of roads in India.

1+41+1=3

- AR T 3T FNE 2 T§ A T hATST GRI &A1 & 2 FU i 5 |

What is meant by land-degradation ? Describe the processes involved

in it. 1+1+1=3
gug -

Section - D

3MY T I UHM W &I dc o THIOT St g TR FEATST AT JUF i 7T |

Describe any four characteristics of the modern large scale

manufacturing. 1+1+1+1=4
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29.

30.

7
ST IR % i AR LRI BT I i 5T |

SEl

W Fe U G FeR I o A TG & TR W H T

i fera (i) T T

(i) TETEd B et 99T (iv) oTTE TS ST |

Describe any four bases of international trade. 1+1+1+1=4
OR

Compare Suez canal and Panama canal on the basis of the following

points : 2+2=4
(i) Location (i) Locks
(iiij) Affected countries (iv) Length and breadth.
IR ITLE ST A1 d, 2002 I TIE TRTATST T IO I T
CEE

IR o qT 3T e Ue¥ HiA-9 & 7 ! Weh T IUH I
Describe the salient features of India’s National Water Policy, 2002.
1+1+1+1=4
OR

Which are the major industrial regions of India ? Describe any one of

them. 2+2=4
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